Uppsalabridgen
Sondagspar@RealBridge #8 2022-11-06

Partavling, 8 bord, 16 par. Antal brickor: 24. Medel: 168.0.

Plac Par Poang % Namn MID Klubb
1 14 206 61.31 Benny Olsson - Roger Nyman 592 7522  Skoévde BA - Hunnebostrand-Kungshamns BK
2 1 200 59.52 Vera Enbarr - Jonas Rosén 3045 15391 Sandvikens BK
3 11 199 59.23 Mikael Fahlander - Ping Huang 13534 38809 Uppsalabridgen
4 12 198 58.93 Mats Johansson - Linnea Edlund 15014 34773 Uppsalabridgen
5 8 183 54.46 Kjell Holmgren - Leif Holmgren 3368 12330 Bollnas BK
6 9 182 54.17 Bertil-G Johnson - Paulo Leal 10514 200621 Hallefors BK
7 4 181  53.87 Daniel Gustafsson - Niklas Andrén 89269 1623  Lunds BK
8 3 168 50.00 Tore Enbarr - Lars-Gunnar Svangard 3044 11682  Sandvikens BK
9 6 167 49.70 Goran Lidgren - Hakan Litsegard 10066 5536  Skovde BA - LUCK
10 15 164  48.81 Pernilla Nas - Thomas Karlsson 10428 8958  Storsjobygdens BK
11 16 156 46.43 Asa Jonsson - Emma Karlsson 91371 58290 Sundsvallsbridgen - Luled BK
12 2 149  44.35 Peter Larsson - Dag Larsson 33870 92611 Sandvikens BK - Soderhamns BS
13 5 148  44.05 Mats Andersson - Marton Loke 16630 15691 BK S:t Erik - Sandvikens BK
14 13 135 40.18 Julia Borg - Allan Nouri Otman Farha 66497 47179 Kalmarsunds BK
15 7 133 39.58 Majsan Agren - Anna Ek 61575 59578 Uddevalla BF
16 10 119  35.42 Nils-Erik Hedlund - Hakan Svensson 7585 3390 Bollnds BK
1 4 D102 2 4643 3 4 E63
Nord v8 Ost v 10652 Syd v 853
Ingen 410753 NS ¢ K92 ov + D965
#EKn986 #1094 #1086
4 K73 & EKn854 498 4 KDKn1075 4 D872 4105
vKn52  vEK109 vD8 v Kn9 vD762 v94
¢+ EK8 + Kné4 +E1084 ¢ D653 ¢+ K2 41083
#D1074 &5 #EKKN53 #6 #KD2 &EKNn9754
496 aE2 4 KKn94
vD7643 v EK743 v EKKn10
¢+ D92 ¢ Kn7 ¢ EKn74
#K32 «D872 &3
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
9 10 3NV= 8 400 140 00| 1 2 440-1 vA 50 100 40|11 7 3¢S+l #Q 130 13.0 1.0
1 2 440-= v3 -420 80 60| 3 4 440-1 vA 50 100 40|15 12 2¢ S+2 &K 130 13.0 1.0
7 8 44 O= +9 -420 80 60| 5 6 440-1 vA 50 100 40| 3 2 2vS= «K 110 9.0 50
11 12 44 O= 2 -420 80 60| 7 8 440-1 vK 50 100 40| 8 4 1¢ N+2 ¥9 110 9.0 5.0
13 14 44 O= v3 -420 80 6.0(|11 12 44 O-1 vA 50 100 40| 6 9 2vS-1 a7 -50 50 9.0
15 16 44 O= v3 -420 80 6.0|13 14 34 O= vA -140 40 10016 14 INS-1 a2 -50 50 9.0
3 4 3NV+1 +5 -430 20 120| 9 10 24 O+2 vA -170 20 12.0|13 10 2NS-2 v6 -100 2.0 120
5 6 44 0+1 ¢2 -450 0.0 14.0|15 16 4v S-2 49 -200 0.0 140 5 1 3NN-3 &5 -150 0.0 14.0
4 aE2 5 4 E9 6 4 K84
Vast v K543 Nord vKD94 Ost v EDS
Alla +82 NS +83 ov ¢ 974
#EK1074 2#KD632 #KKn73
4985 4 K743 4Knl043 48762 4 EDKNn763 495
vED10 v862 vE7 v 1062 vKn43 v 10876
¢ DKn76 ¢ EKA43 ¢+ KD7 ¢ E42 ¢ Kn65 ¢ EK
«D95 *32 #EKN94 #1085 »2 #D10654
« DKn106 4« KD5 4102
v Kn97 v Kn853 v K92
+ 1095 ¢ Kn10965 + D10832
#Kn86 &7 &E98
Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang Par Kontr ut Res Poéang
8 4 240-1 *6 100 140 00| 5 2 3v N+2 48 200 140 00| 9 1 3¢S= *2 110 12.0 2.0
11 7 INN= +3 90 120 20| 4 11 2vy N+2 &5 170 9.0 50|14 12 3¢ S= »2 110 120 20
5 1 14 0= *6 -80 100 40| 9 1 2vS+2 &4 170 90 50|15 7 3¢ S-= *2 110 120 2.0
6 9 INV= *7 -90 6.0 80|14 12 3y N+1 46 170 90 50| 4 11 240-1 2 100 4.0 10.0
13 10 2¢ O= 4Q -90 6.0 80|15 7 3v S+l &T 170 90 50| 5 2 24V-1 +4 100 40 10.0
15 12 2¢ V= a A -90 6.0 80|13 6 2&#N-= 48 90 40 100 8 3 240-1 2 100 4.0 10.0
3 2 24N-1 ¢ A -100 20 120| 8 3 240-1 *7 50 20 12013 6 24 V-1 a4 100 4.0 10.0
16 14 2¢ V+1  #A -110 0.0 140(16 10 2& N-1 46 -100 0.0 140(16 10 24 V-1 *4 100 40 10.0
7 41053 8 ~E86 9 « ED10654
Syd v 108532 Vast v 854 Nord v Kn5
Alla ¢ ED42 Ingen + KKn65 ov 4982
&E *E72 #103
« DKn4 & EK762 4D1072 #K953 49 & 87
vD v EKn4 vED9 v K762 v987632 vED104
+ Kn103 + K96 ¢ D7 4103 +K + E103
#D109852 #K3 #K1063 #D94 #EKn874 #D962
498 « Kn4 & KKn32
v K976 vKnl103 vK
+875 ¢ E9842 ¢+ DKn7654
#Kn764 #Kn85 &K5
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr ut Res Poang
9 5 44 0-2 +5 200 140 00| 1 13 INV-1 +6 50 130 10| 3 15 5v V-1 A 100 13.0 1.0
1 13 44 0-1 +5 100 100 40|12 10 INV-1 +6 50 130 10|12 6 5vV-1 A 100 13.0 1.0
12 10 44 O-1 »6 100 100 40(15 4 3¢ S-2 *6 -100 100 4.0|/13 5 34 N-1 vA -50 10.0 4.0
14 7 44 O-1 *7 100 100 40| 8 2 24V= +5 -110 70 7.0|11 8 44 N-2 48 -100 70 7.0
15 4 340+1 v7 -130 6.0 80|14 7 24V= v5 -110 70 7.0|16 1 44 N-2 48 -100 70 7.0
11 3 24 O+1 @7 -140 40 100|111 3 3vO= ¢+ A -140 30 110 9 2 44DN-2 vA -300 40 10.0
8 2 44 0= v7 -620 10 13.0|16 6 24 V+l v4 -140 3.0 11.0|14 4 54DN-3 8 -500 20 120
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16 6 44 O= v7 -620 10 13.0| 9 5 24V+2 46 -170 00 140|10 7 54DN-4 vA -800 0.0 14.0
10 # 953 11 462 12 « K83
Ost v E95 Syd v KKn975 Vast v763
Alla + 1063 Ingen ¢ 104 NS ¢ 42
#KKn54 #10765 #D10542
4 KKn104 4 E82 4 KD84 4E107 «E102 4 Kn54
v K32 vD10874 vE32 vD6 vD8 v K95
¢ D54 ¢ EKn ¢E72 ¢ KKn863 ¢ EKKn8753 ¢ 106
«E103 986 K94  #EDKn 3 #KKn987
«D76 & Kn953 « D976
vKn6 v 1084 v EKn1042
¢ K9872 + D95 +D9
«D72 832 *E6
Par Kontr Ut Res Poéang Par Kontr Ut Res Poéng Par Kontr ut Res Poéng
3 15 3NO-1 2 100 120 20|11 2 6NV-1 46 50 110 30|11 2 3¢ V= v3 -110 130 1.0
11 8 3NO-1 +8 100 120 20|12 1 6NV-1 *6 50 110 30|12 1 3¢ V= *2 -110 13.0 1.0
14 4 3NO-1 o7 100 120 20|14 3 6NV-1 *6 50 11.0 30| 7 6 3¢ V+l v6 -130 9.0 5.0
10 7 INO+3 ¢2 -180 80 60|15 8 6NO-1 vT 50 110 30|14 3 4e V= v6 -130 9.0 5.0
12 6 3NV+1 ¢3 -630 6.0 80| 5 16 3NV+2 &7 -460 60 80| 5 16 3vS-2 ¢ A -200 6.0 8.0
13 5 4v O+1 ¢2 -650 30 110| 7 6 6NV= v7 -990 20 120|10 4 3NO+1 v2 -430 3.0 11.0
16 1 4vO+1 46 -650 30 11010 4 6NV= 46 -990 20 12015 8 3NO+1 «Q -430 3.0 11.0
9 2 3NO+2 ¢7 -660 00 14013 9 6NV= v5 -990 20 12013 9 3NO+3 vT -490 0.0 14.0
13 « D98752 14 495 15 93
Nord v 65 Ost v K2 Syd v KKn942
Alla + E643 Ingen + E8632 NS + KD86
&5 #ED73 #E8
«E4 4 KKn3 «Knl10 4 ED642 aE2 4« KD104
v DKn9 v EK1083 vD97543 v EKn106 vD873 vE105
o7 ¢ K102 ¢ K105 ¢ Kn4 41054 #Kn72
#EDKN8742 #K3 £92 »84 #K1076 %932
« 106 4 K873 & Kn8765
v742 v8 v6
¢ DKn985 ¢ D97 ¢ E93
#1096 #KKn1065 #DKn54
Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang Par Kontr ut Res Poéang
12 5 5#V+2 v6 -640 140 0.0|13 2 4v V-2 49 100 140 00| 6 3 2¢ N+1 ¢2 110 120 20
16 9 4v0O0+2 +Q -680 120 2.0| 8 14 4v O-1 *7 50 110 3.0|14 11 2¢ N+1 %2 110 120 2.0
13 2 49y O+3 T -710 100 40|12 5 4v0O-1 v8 50 11.0 3.0|16 13 2¢ N+1 4K 110 120 20
8 14 BNO+4 &7 -720 70 70|10 3 6#S-2 EN] -100 80 60| 4 1 INN= *2 90 6.0 8.0
15 11 3NO+4 o7 -720 70 70| 7 1 2v0+1 #J -140 60 80| 7 5 INN= *7 90 6.0 8.0
7 1 6y0O= +J -1430 40 100|166 9 3vO+1 v8 -170 40 100|115 2 2¢ N= T 90 6.0 8.0
6 4 6NO+1 «T -1470 10 13.0| 6 4 4v0O-= o7 -420 20 12.0| 9 12 INV-1 ¢+ K 50 20 12.0
10 3 6NV+1 &5 -1470 10 13.0|15 11 4vDO= &T -590 0.0 140|10 8 24S-1 *6 -100 0.0 14.0
16 « Kn1094 17 754 18 4742
Vast vE8 Nord v43 Ost v KDKn1085
ov ¢ E7 Ingen ¢ EKn9 NS .-
#EKn952 #EKKn103 *9764
4E7652 &K « EKDKn8 4963 « 1086 4 KDKn
vD76 v K109542 v DKn9 v E7652 v 97642 vE
¢ 942 + K865 + 875 +KD10 ¢- + EDKn8432
*73 *K4 «D5 *97 #EKKn103 #52
« D83 102 « E953
v Kn3 v K108 v3
¢ DKn103 46432 ¢ K109765
+D1086 #8642 «D8
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr Ut Res Poang
15 2 4¢vDO-1 +Q 200 140 00| 1 3 4v0-1 *4 50 120 20|14 15 4¢ O-2 v3 100 13.0 1.0
6 3 3v0-1 *8 100 120 20| 4 5 4v0-1 T 50 120 20|16 2 4NO-2 45 100 130 1.0
16 13 INN= v4 90 100 40|11 10 4vO-1 *4 50 120 20| 1 3 3¢ 0= v3 -110 100 4.0
9 12 44 N-1 &K -50 70 70| 6 8 44N-2 43 -100 80 60| 4 5 3NV+1l K -430 4.0 10.0
14 11 24 N-1 +6 -50 70 7.0]|12 13 24 V+1  #A -140 40 100 6 8 3NO+1 7 -430 4.0 10.0
4 1 24 N-2 +6 -100 4.0 10.0|14 15 24 V+1 &K -140 40 100 7 9 3NV+1 +vQ -430 4.0 10.0
7 5 290+1 ¢ -140 20 12016 2 24 V+1l A -140 4.0 10.0|11 10 3NO+1 45 -430 4.0 10.0
10 8 34DS-2 v6 -300 0.0 140 7 9 1aV+3 &K -170 0.0 14.0|12 13 4NV= vK -430 4.0 10.0
19 & KKn542 20 « D932 21 105
Syd v94 Vast v 763 Nord v 87
oV ¢+ E84 Alla ¢ D62 NS ¢ 74
#EKn3 #Kn52 #KDKn10964
4873 D10 K5 « EKn10864 4 EKKn84 & D62
vEKKn87 v D1032 vE10842 vD vKDKn94 ¢ E10532
+ K96 + 1032 ¢ K75 +E103 4985 + KD3
*K8 #D1062 «D73 »E96 *- »E7
~E96 a7 4973
v 65 v KKn95 v6
¢ DKn75 + Kn984 ¢ EKn1062
#9754 #K1084 #8532
Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang Par  Kontr ut Res Poang
4 9 4v V-2 v9 200 130 10| 1 8 44 0= +8 -620 100 4.0(12 2 5v0+1 43 -480 140 0.0
14 2 4v V-2 v9 200 130 10| 3 5 44 0= +8 -620 100 4.0| 1 11 44DN-2 +¢K -500 11.0 3.0
3 5 34 N= v3 140 80 60| 4 9 440-= +8 -620 100 4.0|15 6 44DN-2 a2 -500 110 3.0
12 16 34 N= v3 140 80 6.0|12 16 44 O= +8 -620 100 40| 3 9 6vO= *8 -980 4.0 10.0
13 7 34 N= vT 140 80 6.0|14 2 440-= +9 -620 100 4.0| 4 13 6vO= ¢A -980 4.0 10.0
1 8 INV-1 a2 100 3.0 11.0|10 15 3NV+1 &2 -630 30 110 5 8 6vyO= ¢+ A -980 4.0 10.0
10 15 4v V-1 a5 100 3.0 11.0|13 7 3NV+1 &2 -630 30 110]| 7 16 6vO= *A -980 4.0 10.0
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6 11 3v V= v4 -140 0.0 140| 6 11 44 O+1 &4 -650 0.0 140|10 14 6v O= *A -980 4.0 10.0
22 & KKn72 23 a42 24 rY:]
Ost vE742 Syd vED7 Vast v 1062
oV ¢+ D107 Alla 49764 Ingen + Kn8652
&#Kn3 &#Kn643 #Kn983
464 « E10983 4 DKNn1098 & EK5 «D1074 & EKnN65
v Knl0865 v93 v K83 v 109654 v D7 v K985
¢ 653 ¢ 942 +52 + K10 ¢ EKD97 410
&KD4 #1087 »KD9 &E108 &K5 &E764
«D5 & 763 & K932
vKD v Kn2 v EKn43
¢ EKKn8 + EDKn83 +43
&E9652 &752 D102
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
1 11 3NN+2 a3 460 11.0 30| 5 11 3NV-3 +6 300 140 00| 1 15 44 V-1 &8 50 13.0 1.0
4 13 3NS+2 &K 460 11.0 30| 6 14 44 V-2 +6 200 120 20(16 4 54 V-1 LX) 50 13.0 1.0
7 16 3NN +2 a3 460 11.0 30| 1 15 4v0O-1 &2 100 6.0 80| 3 13 4e V= &3 -420 9.0 5.0
10 14 3NN +2 &8 460 11.0 30| 3 13 44 V-1 a4 100 6.0 80| 8 9 4eV= &3 -420 9.0 5.0
3 9 3NN+1 LY:] 430 30 11.0( 7 12 4v0O-1 46 100 6.0 80| 5 11 4e V+1 LX) -450 3.0 11.0
5 8 3NS+1 v5 430 30 110 8 9 4v0-1 vlJ 100 6.0 80| 6 14 4e V+1 +5 -450 3.0 11.0
12 2 3NS+1 vJ 430 30 110(16 4 4v0O-1 vJ 100 6.0 80| 7 12 44 V+1 &3 -450 3.0 11.0
15 6 3NS+1 v)J 430 30 110|100 2 2vO0O= a7 -110 0.0 140|100 2 44 V+1 LX) -450 3.0 11.0
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